P

Pre-drill for
each screw

4 " N
Important:
Assembly of
this product
requires a

minimum of two
adults.

Overhang is for
locating over the base

Put a protective cover underneath the product so

Issue 0316
thatthe tops of the Cills do not get damaged.

(" Position a Cill on the floor an place the section on )

top. Make sure the section is flush on the outside and
the cornersline up.

Fixin place using 4 x40mm screws.

Use 2 x 40mm screws for each of the shorter Cills
\\§

Use another Cill to help line up at the corners.

Flush & Square

/When all of the Cills have been fixed to the sections, place the sections\
together on top of the base. Make sure that everything is flush before fixing them
to each other using 2 x 50mm screws for each corner.

Place an L’ bracket in each corner underneath the cills and fix the panels together
using 25mm screws.

Fix the sections to the base using 2 x 50mm screws for each end and 4 x 40mm
screws for the sides.

\_

J

When your planter is fully completed unfold the
liner and place the pieces inside as shown,

adjusting as you fill.
Screw through into the

floor batten underneath

Position before filling

This article contains biocidal products to give protection against wood destroying insects & wood rotting fungi. Contents may vary.
May contain : Basic copper carbonate (Copper (1) carbonate — Copper (II) hydroxide (1:1), Cupric oxide, Copper hydroxide carbonate, oxyethyl, ammoniumpropionate, Copper HDO, Propiconazole, Tebuconazole, Boric acid, Benzalkonium chloride.

Wear gloves when handling freshly treated wood. Avoid breathing dust when cutting treated or untreated wood. Dispose of off-cuts responsibly — do not burn. II

Forest Garden Ltd, Unit 288 Hartlebury Trading Estate, Hartlebury, Worcestershire, Dy10 4JB



	Page 1

